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22| 211 131 160|E 41 |ENE 20(|S 36 |SSE 62| B C |mmezs—mm|HiEE H5 22| 61| 150| 80| 68
23] 236 129 | 176 |SSE 10|E 37 |ENE 3.1 |NNE 62| E E |8 BRE—HE| H2 23| 114 150 70| 37
24| 228 143 180|S 36 |ssw 53 |s 57|ssw 82| E D [E2 et H2 24| 97| 150| 94| 40
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28| 254 | 158 | 20.1 |SSW 26 [SW 47 [SW 46 |[ESE 10| E D [[E2—MKiE |2 H4 28| 104 | 100 | 28| 21
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9| 214 | 176 | 195 |INNW 6.2 [N 22 |S 26 |SE 87| AD L2 9] 00| 150 27| -0.9
10] 27.0 | 18.6 | 226 [E 26 [ESE 29 |S 41]ssw 31| E C H2 10] 69| 150 59 2.4
11] 26.0 | 200 | 225 15 |SSE 3.7 |S 41 1S 51 B C F3 1 28| 100 59 4.7
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29| 26.7| 180 21.1 |ESE 21 |SE 25 |S 46 [NNW 31| B C H2 29] 63| 150 7.1 50
30| 260 | 198 221 (S 26 [ESE 2.7 |SE 21 |S 31| EE F3 30] 29| 200 9.3 56
ERk274%78
5] x B | # £
ER E B m - A& th = = % |ExR| B E
°c m/s B B &M B | 2 E °C
__B|IEE[&SE|FH| 098 | 128F | 158F [1000m| & | (06~18h) | (18~06h)| & 8| f& km| O9B%| 21B%
11 264 192 | 219 [E 21 ssE 24 |SSW 7.1 |SSE 98| B E L2 1 0.0 8.0 48 -1.1
2| 249 | 214 226 |SSE 22 |ssw 29 |SSW 52 |ESE 108 | E E F3 2 15 8.0 48 45
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17] 297 | 228 | 265 |SE 46 |ssw 75 [SSW 7.7 [SSE 149 C D L2 17] 38| 150 6.7 47
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2| 343| 267 | 299 |[ENE 1.9 |SSE 4.9 [SSw 53 |SSE 21 | ED |& BHE H4 2| 124 100| 56| 22
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19| 304 | 264 | 275|E 26 |[ENE 45 |ESE 41[S 31 22— 2 F3 19 33| 250| 77| 44
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21] 306 | 254 | 272 |E 21 |SE 31 |ssw 3.1 |ESE 31| BE |& Bk — B F2 21| 34| 100 61| 44
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